DpiumD

Ratio to CDF

10

0.5

1800 GeV ppbar

Underlying Event
T | T T T T T

—| T T 1T T T T T | T T 1T T T T T | T T T T 9
c
O]
| > ]
Z(pT) vs AQ (ij1 5.0 GeV) >
=
| m CDF |5
— —— Pythia 8.308 default m
— Pythia 8.308 tune-1 =
B Pythia 8.308 tune-2c = ;
B Pythia 8.308 tune-2m B T
. o
m
-« N |
. ] g'
C Sm =
L j—\- 7] g‘;)
-y 18
™ —
- r\\ e
; m |2
— < !._!_!_ft_“ — IE,
» mEmE .‘;\H(.—.-H- b 473 <
kL LT b s -
— ] 8
L -1 wn
_ Jo
~ =
o T P P P O O A
= 42
B =Ny N
A/ N“‘A‘\A/K“\ /"\%Mewdh ,‘/‘*ﬁg E;‘.,’“\ 52982 — 1
[ S ’
— —0.5
| " 1 1 1 1 | " 1 1 1 1 " | " 1 " 1 " 1 " | " 1 " 1 " 1
0 50 100 150

A/ degrees



	Contents
	Page 1


